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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

June, 2015 

CHEMISTRY 

CHE-05 : ORGANIC CHEMISTRY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt all the four questions. 

1. (a) Write the IUPAC names of any two of the 

following : 	 2x1 

(i) HC = C —CH2  — CH2  

CH3 

(ii) H3C — C — CH2  — CH — C —CH3  

0 	Br 0 

H3C OH 
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(b) Assign R or S configuration to any one of the 
following : 

(i) 	H2N 

  

CHO 

  

    

CH3  

COOH 

	H 

CH3  

(c) Assign E or Z configuration to any one of the 
following : 

(i) 
Br N 	,CH3  

C = C, 
CI
, 
 "OH 

H2NN  ,C2H5  
C = C 

xCH3 

(d) Write the structure of 
N, N-dimethylaminobenzene. 

Br 

CHE-05 	 2 



2. Attempt any five from the following : 	5x2=10 

(a) Compare the relative acidities of benzoic and 
ethanoic acids. Justify. 

(b) Explain giving products the effect of action 
of heat on 2-hydroxy and 3-hydroxy 
carboxylic acids. 

(c) Write the structure and IUPAC name of an 
isoprene unit. 

(d) Discuss Aldol condensation. 

(e) Write the steps involved in Kolbe's reaction. 

(f) Write the equation with conditions to show 
Friedel — Crafts acylation reaction. 

(g) Write Hell-Volhard-Zelinsky reaction. 
Discuss its synthetic importance. 

3. Attempt any five parts from the following : 5x3=15 

(a) In electrophilic substitution although 
chlorine deactivates the benzene ring yet it 
is ortho and para directing. Explain. 

(b) The attack of electrophilic in pyrrole usually 
occurs at C-2 position. Explain. 

(c) Explain tautomerism. Give examples of two 
different types of tautomerism. 
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(d) Predict the products and name them : 
(i) 203  

CH2  = CH — CH = CH2 	  
(ii) H2O (Zn) A 

(e) Explain Saytzeff's rule giving one example. 

(f) Explain the following terms : 

(i) Base peak 

(ii) Finger print region 

(iii) Chemical shift 

(g) Write the enantiomers of tartaric acid. What 
is the racemic form ? 

4. Attempt any five parts from the following : 	5x4=20 

(a) Fill in the blanks : 

(i) Pleasant smelling substances obtained 
by steam distillation of parts of plants 
are called 	 oils. 

(ii) Carbonyl compounds give an orange 
coloured precipitate with 	on 
heating. 

(iii) For butane molecule, the most stable 
conformation is called the 	 
conformation. 

(iv) According to Hiickel's rule, the presence 
of 	 it electrons defines an 
aromatic compound. 
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OH 	9 

COOH 

OH 

(b) Complete the following : 

9 	r, 
(i) 	C6115011 	 •_,6±.1.6 

CH2  — COOH 
64 573 K 

(iii) CH2  

CH2 — COOH 

(iv) H3C — C — CH3 	> H3C CH2 . CH3  

O 

(c) Give one chemical test for the identification 

of the following functional groups : 

(i) A phenolic group 

(ii) An aldehydic group 

(iii) A carboxyl group 

(iv) Primary amino group 

(d) Write short notes on any two of the 
following : 

(i) Diazotisation 

(ii) Ninhydrin reaction 

(iii) Reimer — Tiemann reaction 
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(e) Differentiate between the following : 

(i) DNA and RNA 

(ii) Soaps and detergents 

(f) (i) Give chemical equations for the 
following : 

(1) Williamson's synthesis 

(2) Rosenmund reduction 

(ii) Explain Markownikoff's rule with a 
suitable example. 

(g) Discuss the following reactions : 

(i) Perkin condensation 

(ii) Benzoin condensation 
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	Irr6W (*.TT 

Trliff 174* 

T4, 2015 

'ATE Ic 41I1 

: 4:n i 	TfTTER 

RIFT: 2 EIT, 	 3TRIWUPT 	: 50 

*:  	N1 3 9/ /1 7 

Pi-irortsm 414 fd.)- 

fAR : 	 2x1 

(i) HC = C — CH2  — CH2  

CH3. 

(ii) H3C — C — CH2  — CH — C — CH3  

0 	Br 0 

(iii) H3C 
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(vi) -IHRirtgi 	64 kw.  .1/?TiTS*tf 

afe-aP:rrg AtTiftff 	: 

H 

(i) H2N 

CH3  

COOH 

(ii) Br 

  

H 

  

    

CH3  

	

(ii) r+-i 	(gc-i 	14 1 	ct) 	 E 711 Z 	V:1 

31-5TrITU -*TWO.  *W-A7 : 

(i)  
Br N 

= C 
r  CH3  

C  
C1/ NOH 

H2N, /C2H5 
(ii) C = C 

NCH3 

(v) N, N-  . 	fAR 

CHO 
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2. 1+-i No 14 11"f reW *37T tr-4R : 	5x2=10 

() 	aTr t T$4-4 aTir aTrirw 
*=r grmi *114R aTEr4 zw( *'t 

(w) 2-1*§Tcm.11 afIK 	 wei ctki rrlch aT1 6-  
-k-4 	V1-4414-4 3c41‹ -swr 	t ? 

.14-1$11w 

(zr) al-r-pftsh 	Ich 
R-Fr fRIR 

(q)  	t 	tri-4R 

(;) ml 	 aT5.1*-4r 4 t4 cm) 	 few 

() 3 r1 — shivi 	 3TN4-.4r 
]f-de T4-64 7 w-11.4Rui WuR 

( )   aTrIa4r -1W4RI vi 

i 	igrlr4) 4W-cl 	*11-4R 

3. r+-iRiRgo 4 %-.41 grw 11-Fil*Z-ffK tr-4R : 5x3=15 

() *c%T-It-49  51W2TTER 14 qti 	1rWhfrq 4.4k 
cwiti 	-14Rb-4 et*-11 t 	-PER ift 	sarfe 

311( th-f  	t I eemsm Qr-A-R 

(w) fr;r4 4 	,act.  17-14g) err arp:rur wilfreideil C-2 
"PAald1 t I 00-nteii ifr I 

(TO "c1Cliclqc1C11 	0441t9elf WAR I lowiacii 
itTw mctoil* Jqwui trxR 
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0=0 
	

(Sid 3T1ITWAT 	3t41‹ WUR atIT 	 

TR aid 	: 

(i) 203 
CH2 = CH — CH = CH2 	  

(ii) H2O (Zn) A 

() i dCWul t F *4E5 Pew ti 0e114.90-0 trr-4R 

PIHRIRsia TKI 	04,N...411*r-4R : 

(i) aTitm Diw 

(ii) airlfF 

(iii) tIk 	14I m #4.rd 

() 	aTir  	f-AR I 	c .FEr 
w 610 ? 

4. -14-1 (sid> Af+7-g- f 	ITTrff drit tf-47 : 5x4=20 

() ikrn 1:9-TO i c trf-A-R : 

(0 ITEE114 aTri:Pq ART 	* 	A ter, 

3lr*-4 Till .10 Tr-4-Q 
cb 'I  

ctotiPti tiTK 	 Trr4 

mta 	-11 ,11 it .wr aratEr I 

39 * RI% Tr44 aftT-  P-Trzft 
.t>1.-9;14*i 	ca-,:t14*i .4)0 

(iv) ct)C1 P10-14.1 	ailfrg .1,41 
bra 
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(w) 	isicr 	 : 

(i) C6H5OH 	 C6H6 

OH 

COOH 

OH 

CH COOH 2 - 	A, 573 K ? 

(iv) H3C - C - CH3 	H3C CH2 . CH3  

O 

(T) PHR-Rgo 	menitiicHa, 	*I• 797 
11tilelPIct) tiftelf tl* : 

1-PiTiCich too 

(ii) 	sch 	 

(iii) 	 flig 

(iv) TIRTFITW •1:11* 

(Izr) r+-irClrtsid 	 tr( Tirkp7r fau4Pitt 

(i) 	 4Aul 

al-ftriwzrr 

twit — 44.1 aTlirWrr 
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CH2  - COOH 



(;) -14-1 zi (ski 	aT -K eicw : 

(0 t.R.q.R. 3TR.T4.R. 

	 3I 31ERT1 

rc-R 	.ict) 	crKur tr--4R : 

(1) ra61144-1 *aqui 

(2) t4-41:11  aitrwrq 
1-11ct) 	ct)r:b 1- 

r,  
1e14-1 

eei 	te4R 

() r+-irrirtsid afsTWrrat 	*'tr-4R 

(i) iaq kitm4 

(ii)  
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